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From childhood to old age, we all use language as a means of broadening our knowledge of
ourselves and the world about us. When humans first __ 1, they were like newborn children,
unable to use this__2 tool. Yet once laﬁguage developed the possibilities for humankind’s future
_ 3 and cultural growth increased.

Many linguists believe that evolution is __4 _for our ability to produce and use language.
They _ 5 that our highly evolved brain provides us . 6 _#n inniite(K 4 )languege ability not
found in lower organisms. _ 7 of this innateness theory say that our _8 for language is
inborn, but that language itself develops gradually, _ 9 a function of the growth of the brain

—_—

during childhood. Therefore, these are critical 10 times for language development.

Current reviews of innateness theory are 11  ;however, evidence supporting the existence
of some innate abilities is undeniable. . 12 _more and more schools are discovering .that foreign
languages are best taught in __ 13 .grades. Young children often can learn several languages by
being_ 14 to them, while adults have a much harder time learning another language once the
15 of their first language have become firmly fixed.

_16 some aspects of language are undeniably innate, language does not develop
automatically in a __17 . . Children who have been isolated from other: human beings do not
possess language. This demonstrates that _ 18 - with other human beings is necessary for proper
language development. Some linguists believe that this even more basic to human language 19
than any innate capacities. These theorists view language as imitative learned behavior. __ 20 ,
children learn language from their parents by imitating them. Parents gradually shape their
child’s language skills by positively reinforcing precise imitations and ‘negatively reinforcing
imprecise ones.

.

1.[A] evolved [B] born [C] produced »~ . [D} originated
2.[A] perfect [B] favorite [C] valuable .- [D] appropriate
3.[A] attainments [B] perfection [C] feasibility [D] evolution
4.[A] reliabie [B] responsible [C] available " [D] accountable

. 3.



5.[A] confirm
6.{A] for

7.[A] Ruvals

8.[A] potential
9.[A] like

10.[A] psychological
11.[A] mixed
12.[A] Indeed
13.[A] the higher
14.[A] disclosed
15.[A] charters
16.[ A] Because
17.[A] sense
18.[A] comparison
19.{A] acqusition
20.[A] For example

[B] inform
[B] against
[B] Propagandists
[B] preference
[B] as

[B] emotional
{B] favorable
[B] In short
[B] the lower
[B] revealed
[B] regulations
[B] In case
[{B] vacuum
[B] interaction
[B] inheritance

{C] claim

[C] with

[C] Agitators
[C] affection

[C] similar to
{C] bioclogical
[C] identical

{C] In other words
[C] standard

[C] immersed
[C] rules

[C] Although
[C] galaxy

{C] exposition
[C] interpretation

[B] In other words [C] Above all

[D] acknowledge
[D] of

[D] Proponents
[D] passion

[D] unlike

[D] ideological
[D] unanimous
[D] In a way
[D] various

[D] exposed

[D] constitutions
[D] Whether
[D] hurry

[D] fascination
[D] manipulation
[D] As a result

S HEIZ [TH84K] %

Business and government leaders also consider the inflation rate to be an important general

indicator. Inflation 1s a period of increased __1 that causes rapid rises in prices. _ 2 your

money buys fewer goods so that you get __3 for the same amount of money as before, inflation
1s the problem. There is a general rise _ 4 the price of goods and services. Your money buys

less. Sometimes people describe inflation as a(n) _5 when “a dollar is not worth a dollar
anymore” .

Inflation is a problem for all consumers. People who live on a fixed income are hurt the
__6 . Retired people, for instance, cannot __7 _on an increase in income as prices rise. Elderly

people who do not work face serious problems in stretching their incomes to _ 8

their needs in
time of inflation. Retirement income __9 _any fixed income usually does not rise as fast as prices.
Many retired people must cut their spending to __10 _ rising prices. In many cases they must stop
_ 11 some necessary items, such as food and clothing. Even _ 12 working people whose
incomes are going up, inflation can be a problem. The __ 13 of living goes up, too. People who
work must have even more money to keep up their standard of living. Just buying the things they
need costs more. When incomes do not keep __14 __with rising prices, the standard of living goes
down People may be earming the same amount of money, but they are not living __15 because
they are not able to buy as many goods and services.

Government units gather information about prices 1in our economy and publish it as price
indexes 16 the rate of change can be determined. A price index measures changes in prices
using the price for a _ 17 year as the base. The base price is set __ 18 100, and the other

. 4 .



prices are reported as a _ 19 of the base price. A price index makes _ 20 possible to compare

current prices of typical consumer goods, for example, with prices of the same goods in previous

years.

1.[A] spending [B] demanding [C] consuming [D] saving
2.[A] Because [B] While [C] Since [D] When
3.[A] much [B] little [C] more [D] less

4. [Alm [B] on [C] at {D] to

5.[A] chance [B] time {C] moment [D] occasion
6.[A] best {B] least [C] most [D] worst
7.[A] rely [B] rest {C] depend [D] count
8.[A] meet [B] obtain [C] care [D] acquire
9.[A] or [B] and [C] excluding [D] including
10.[A] live up to [B] catch up on [C] put up with [D] keep up with
11.[A] to buy [B] buying [C] having bought [D] from buying
12.[A] for [B] to {C] of D] i

13.[A] price [B] level [C] cost [D] standard
14.[A] race [B] pace [C] speed [D] step
15.[A] as usual [B] as well [C] as before [D] as such
16.[A] in which [B] from which [C] of which [D] by which
17.[A] last [B] given [C] fixed [D] definite
18.[A] on [B] by [C] at [D] against
19.[A] portion [B] percentage {C] proportion [D] fraction
20.[A] it [B] us [C] one [D] you

S HEI= [doAR] f

Today, most countries in the world have canals. Even in the twentieth century, goods can be
moved more cheaply by boat __ 1 by any other means of transport. Some canals, such as the Suez
or the Panama, _ 2 ships weeks of time by making their voyage a thousand miles shorter. Other
canals permit boats to reach cities that are not __3 on the coast. Still other canals _ 4 lands
where there is top much water, help or irrigate fields where there is not enough water, and furnish
waterpower for factories and mills.

The _ 5 _of a canal depends on the kind of boats going through it. The canal must be wide
enough to permit two of the _ 6 boats using it to __7 _each other easily. It ot be deep enough

to leave about two feet of water _ 8 the keel of the largest boat using the canal.
Some canals have sloping sides, __9 _others have sides that are nearly 10 . Canals that
are cut through rock can have nearly vertical sides. However, canals with earth banks may _ 11

if the angle of their sides is too steep.



Some canals are lined with brick, stone, or concrete to keep the water __12 soaking into the
mud. This also permits ships to go _ 13 greater speeds, since they cannot make the banks fall in
by stirring up the water. In small canals with mud banks, ships and barges must 14 their speed.

When the canal goes 15 different levels of water, the ships must be 16 or lowered

from one level to the other. This is generally done by means of locks. If a ship wants to go up to
higher water, the lower end of the lock opens to let the boat m. Then this gate closes, and the
water 1s let into the lock chamber from the upper level This raised the level of the water in the
lock__17 1t 1s the same as the upper level of water. Now the upper gates can be opened to
__18 the ship into the higher water. Of course there must always be enough water on the upper
level to allow for the flooding of the lock. Sometimes a canal contamns a __ 19 of locks when the

20 _ 1n levels is very great.

1.[A] than [B] as [C] for [D] with
2.[A] take [B] save [C] cost [D] waste
3.[A] resided [B] located [C] placed [D] settled
4.[A] irrigate [B] dry [C] dran [D] water
5.[A] width [B] length [C] depth [D] size
6.[A] largest [B] longest [C] heaviest [D] widest
7.[A] pass [B] encounter [C] overtake [D] meet
8.[A] to [B] beneath [C] above [D] on
9.[A] as [B] while [C] since [D] but
10.[A] vertical [B] horizontal [C] smooth [D] flat
11.[A] break [B] corrupt [C] crumble [D] fall
12.{A] away [B] from {C] upon [D] off
13.[A] in [B] at [C] for [D] with
14.[A] limit [B] slow [C] decrease [D] increase
15.[A] across [B] through [C] with [D] away
16.[A] raised [B} promoted C] increased [D] alleviated
17.[A] though [B] until [(C] for [D} therefore
18.[A] free [B] permut [C] release [D] drain
19.{A] means [B] group [C] seres [D] mass
20.[A] distance [B] variance [C] contrast [D] difference
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Who talks more, women or men? The seemingly contradictory evidence is _ 1 by the
difference what 1 call public and private speaking. More men feel comfortable domg * public
speaking”, _ 2 more women feel comfortable doing “private” speaking. Another way of
capturing these differences is by using the __3 _report-talk and rapport( HFiH3% & )-talk.

For most women, the language of conversations is __4 _a language of rapport: a way of
establishing connections and negotiating relationships. Emphasis is __ 5 _on displaying similarities
and _ 6 experiences. From childhood, girls criticize peers who try to __7 _ or appear better
than others. Pegple feel their closest connections at home, or __8 setting _ 9 they feel at
home—with ane ar a few people they feel close __10 _and comfortable about—in other words,

during private speaking. But _ 11 the most public situations can be approached like private

speaking.

For most men, talk is primarily a means to __12 _independence and negotiate and maintain
status in a hierarchical social order. __13 is done by exhibiting knowledge and skill, and by
_14  center stage through verbal performance such as storytelling, joking, or ._ 15
information. From childhood, men learn to use talking as 4 way to get and keep __ 16 . . 17
they are more comfartable speaking in larger groups __18 people they know less well, in the
broadest __19 , “public speaking”. But even the most private situations can be approached like

public speaking, more like giving a report _ 20 _establishing rapport.

i

1.[A] compromised [B] reckoned [C] reinforced [D] reconciled
2.[A] when - [B] while {C] sinces (D] i

3.[A] dictation s [B] descriptions [C] terms . < [D} preface
4.[A] regularly [B] specifically [ C] approximately {D] primarily
5.[A] placed [B] based [C] positioned [D] founded
6.{A] communicating [B] contrasting [C] paralleling [D] matching
7.[A] figure out [B] stand out [C] show around [D] make out
8.[A] on [B] at {C} under [D] in

9.[A] what [B] where [C] which [D] that
10.[A] to [B] by [C] with (D] of
11.[A] even [(B] even if [C] though [ D) despite
12.[A] preserve [B] reserve [CI conserve [D] persevere

.11 -



13.[A] What [B] This [C] Which [D] How

14.{A] holding [B] exhibiting [C] standing [D] playing
15.[A] distinguishing (B] transporting [C] discriminating [D] imparting
16.[ A] attention [B] fascination [C] demonstration [D] status
17.[A] Sull [B] But [C] Yet (D] So
18.[A) made up of [B] consisted of [C] accommodated by [D] formed by
19.[A]) way [B] sense [C] scope [D] range
20.[A] rather than [ B] more than [C] less than [D] than

S HIZ (vH84 K] %

There 1s now no doubt that the world 1s getting warmer. Data from both the Southern and
Northern Hemispheres shows an upward trend in average temperatures over the _ 1  hundred
years. At the moment most scientists are not _ 2 _ to stick their necks out and _ 3 _ a cause to
this trend. It is possible that it represents a natural climatic change caused by a __4 _ increase in
the sun’s _ 5 output. But these same scientists are _ 6  aware that redent temperature
changes are at the limit of known natural __ 7 _: it seems increasingly likely that the _ 8 isan
enhanced greenhouse effect.

The basic theory of the greenhouse effect 1s quite simple. The earth’s atmosphere consists
9 of oxygen and nitrogen, but there are small 10  of various “greenhouse” gases—notably
carbon dioxide, water vapour, and methane — which play a very important role in maintaining
the planet’s “__11 _ balance”. As their name suggests these gases have a similar effect to _ 12
in a greenhouse: They let heat from the sun _ 13, and keep 1t in.

The atmosphere is ___14 _ transparent to the visible solar radiation which warms the earth
(ground or oceans) on which 1t falls. __ 15 it has been heated, the earth is warmer than space
and 16  energy in the form of invisible long-wave infra-red radiation. This _ 17 for
nighttime cooling. Greenhouse gases absorb some of this long-wave radiation, and __ 18 it n
the lower atmosphere.

The gases therefore act rather like a blanket by preventing some infra-red radiation from
leaving the earth-atmosphere system. _ 19  certain limits, the more greenhouse gases present,

the more infra-red radiation will become 20 , and the higher the surface temperature of the

earth.

1. [A] last [B] recent [C] late [D] latest

2. [A] scared [B] threatened {C] prepared [D] provoked
3. [A] owe [B] link {C] contribute [D] attribute
4. [A] dramatic [B] gradual [C] swift [D] moderate
5. [A] ray [B] radiation [C] shining [D] radicactive
6. [A] panfully [B] pleasantly [C] gloomy [D] willingly
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